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Borgarnes, Iceland
Borgarnes is a small town on highway 1.
Main rout from Reykjavik to west and 
north sides of Iceland. 

Today there are two intersection with yield.

High peak traffic on Sunday afternoons 
from north towards Reykjavík.
• Left turn from north has long queues 
• X‐intersection wide, difficult left turns 

from side streets.

Project was to find the best solution for the 
intersection during high peak traffic 2037.



Borgarnes, Iceland
Yield in 2037. LOS and v/c



Borgarnes, Iceland
Roundabout in 2037. LOS and v/c There is very little space for roundabouts and being on 

highway 1 it has to be at least D=43 m. Left turn too big 
for one lane roundabout and no space for two lanes so 
we did not analyze it.



Borgarnes, Iceland
Why this big difference in delays? 
What do the results tell us if some small differences in parameters can yield so different results?

Standard HCM



Borgarnes, Iceland

Signals 2037, two extra lanes. LOS and v/c

Signals 2037, existing layout. LOS and v/c



Víkurvegur, Iceland



Víkurvegur, Iceland



Víkurvegur, Iceland



Víkurvegur, Iceland



Trial and error
Beginners problems:
Started using HCM – later switched to Standard. Had to redo a lot of work.
Peak flow period was not set according to the calculations we had (set to 15 min instead of 60 min)
Analysis option – took some time to figure it out, uniform vs. compound, etc. Still not sure how to use sensitivity 
analysis option.

How to read queue distances together?

Signal offsets

Separate pedestrians signals

Existing programs? How to replicate?



Thank you

http://news2news.today/14‐beautiful‐places‐visit‐iceland/


